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Solving a Triangle


A triangle has six pieces of information – three side lengths and three angle magnitudes.  It is possible to solve any triangle (i.e., determine all six pieces of information) if we have three pieces of information, at least one of which is a side length.

Example 1:  Solve the following triangle
Example 2:  Solve the following triangle

Example 3:  Solve 
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Example 4:  Solve 
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� We need at least one side length, because if all we had were angles there would be an infinite number of differently sized similar triangles that would be valid solutions.





_1329922836.unknown

_1329922883.unknown

_1329922753.unknown

